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à. 1) Imbrb CnàíZ gmoS>dm.           (>5  JwU)
   1)  nwT>rbn¡H$s H$moUVr dJ©~hþnXr Zmhr? Vo gH$maU {bhm.

    a) x + 2x2 + 7    b) (x + 2)2 − 9   c) x (x + 3) + 18    d) x3 − 1 

   2) 9 : 20  ¶m JwUmoËVamMo eV‘mZmV ê$nm§Va H$am. 

    CH$b … 

   3) 2x + y = 10 ¶m g‘rH$aUmMr nwT>rbn¡H$s H$moUVr CH$b Zmhr? Vo emoYm.
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 )  d)   (3, 4)
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B¶ËVm : Xhmdr EHy$U JwU : 
15

{dXçmÏ¶m©Mo  Zmd : ................................................................................ hOoar H«$. : ....................

emioMo Zmd : ......................................................................................... {XZm§H$ :  ......................
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   4) gm¡. Zohm ¶m§Mm Xo¶ Am¶H$a 25,500 é. Amho. Ë¶mda 2% {ejU CnH$a Am{U 1% ‘mÜ¶{‘H$ d 
CÀM {ejU CnH$a {‘iyZ Ë¶m§Zm EHy$U {H$Vr Am¶H$a ^amdm bmJob? 

    CH$b …     

   5) 30 − 40  ¶m dJm©Mm dJ©‘Ü¶ H$mT>m?

    dJ©‘Ü¶ =  
 + 

2
  = 

à. 2) gmoS>dm.              (>10  JwU)
   1) x + y = 9,  x − y = 3
    CH$b … 
    

   2) Oa p (x) = 3x2 − 5x + 8 Va p(2) Mr qH$‘V H$mT>m.
    CH$b …

   3) nwT>rb n[a‘o¶ g§»¶m Xem§eê$nmV [bhm. (arV Amdí¶H$) 

    53
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   4) A Am{U B ¶m Xm oZ g§Mm‘Ü¶ o n(A) = 34, n(A ∪ B ) = 40  Am{U n(B) = 16, Va  
n (A ∩ B) H$mT>m.

    CH$b …

   5) a³VXmZ {e{~amV Imbrbà‘mUo a³VJQ>m§Mr Zm|X H$aÊ¶mV Ambr Ë¶mdê$Z gmaUr nyU© H$am.

    B,  A,  O,  O,  B,  A,  AB,  O,  B,  A,  

    O,  B,  A,  O,  AB,  O,  O,  B,  A,  AB,  

    O,  B,  A,  O,  A,  O,  B,  AB,  O,  B,  AB,  B

a³VJQ> VmiçmÀ¶m IwUm dma§dmaVm − nojm H$‘r g§{MV dma§daVm

O  11 11 

A

B

AB

EHy$U 32


